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What Do You Get When You Cross. . .

1. A thief with a cement truck? A_ﬂ,Aﬂ_ll_E.lﬂ_.E_D_LB—I—ﬁI—H—AL
5145129 2132 91112157 1513 5 10

2. A supermarket with a jungle? L.H__E__C-_K__O_M_I_L_I_.Q_jﬂ_&_
11142114 1 8 310151136

Express each product below in simplest form. Find your answer and notice the letter
next to it. Each time the exercise number appears in the code, write this letter above fit.
Keep working and you will discover the result of each “double cross.”

@) (5= V2)(5 + V2)=25:58-57 -2 =23 ® 4 @) 23
®@ (7 + V3)(7 — V3)Has 38 18- 3 = e @ —14 @‘—26
®(3) (VI0—6)(VI0 +6)=10+ -0l -36 = -2 B 46

® @ (\ﬁﬁ—-\/é)(\/fd+\/é)=lo+ﬁ-ﬁ-§=q @' 26 +11V2

@ (5) (\/§+8)(\/§+3)=2fsﬁ+85+m=zc,+u.fi'_- 30 + 9V2
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@) (V13 + 1) (V13 = 5)e13-5R + 15 -528-4F (DY 6V3+6 V) 7Vi5
@) (6-VI5)(3 - Vibpp-ulE-3E +1s B0 (8) 8- 4V13 9V3
@(@B) @+ V7b+IT)-8 vaJTs T+ 7884 18T () 88+ 18V7
® (9) 3V2(VE + V2)p3lz afi=eB +e () 14V15-10V2
B ® 2\/5(7\/5 —V10)=1nis -2J3§=14JG—_105 ,@' 33 —9V15

st

'k'k_*k'k**k'k'k‘k‘k**'k‘kf"k'k**‘k***k**'k*k

® () 5V3(2V15 + VB)- o +s =204 00 ) s+6V7 () 16V5
® (32 3\/6(4\/5—2\'/1—5)“:‘1;3;-553;3«.&-1&@,@ 26-2v7 (F) 11V5

LI

@@ @+3VE(1+ 2\/5):8+ 16/ +aJ?+s-s-=aa+_ns® 38 +19V5
@ () V7 +4)(EVT - 11)ken afivaotomea () 30V5 +10V6
@35 (BVI0-5V2)(2V10+6V2) (& 363 - 18V10

610 + 18Jw 10w -30-2 =
$T +8R5 - o= NE)
s
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